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1. Write a multiplication statement for each array.

  2     rows and    3    blocks in each row   2 × 3 = 6 

   a) ___ rows and ___ blocks in each row   __________________

   b) ___ rows and ___ blocks in each row   __________________

   c) ___ rows and ___ blocks in each row   __________________

2. Write a multiplication statement for each array.

a) _________________ b) ____________________

c) _________________ d) ____________________

Arrays

In the array, there are 2 rows with 4 blocks in each row.
Skip count by 4s to count the blocks.
The multiplication statement is 2 × 4 = 8.
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Arrays (continued)

3. Draw an array for each. Write the multiplication statement.

a) 8 × 2 = _____ 	 b) 6 × 4 = _____	 c) 1 × 5 = _____

d) 2 × 8 = _____ 	 e) 7 × 5 = _____	 f) 7 × 2 = _____

g) 4 × 4 = _____ 	 h) 3 × 6 = _____	 i) 3 × 2 = _____

j) 4 × 6 = _____ 	 k) 5 × 5 = _____	 l) 3 × 4 = _____
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Arrays (continued)

4. Draw an array for each. Write the multiplication statement.

a) 4 × 7 = _____ 	 b) 10 × 4 = _____	 c) 4 × 5 = _____

d) 8 × 3 = _____ 	 e) 5 × 6 = _____	 f) 9 × 4 = _____

g) 3 × 3 = _____ 	 h) 6 × 5 = _____	 i) 8 × 5 = _____

j) 9 × 2 = _____ 	 k) 7 × 4 = _____	 l) 1 × 10 = _____
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1. Write a multiplication statement for each array.

                                     2     rows and    3    blocks in each row   2 × 3 = 6 

   a)                             ___ rows and ___ blocks in each row   __________________

   b)                             ___ rows and ___ blocks in each row   __________________

   c)                             ___ rows and ___ blocks in each row   __________________

2. Write a multiplication statement for each array.

   a)                     _________________                     b) ____________________

   c)                      _________________                    d) ____________________

Arrays

In the array, there are 2 rows with 4 blocks in each row.
Skip count by 4s to count the blocks.
The multiplication statement is 2 × 4 = 8.

3 × 6 = 183      6

3      4

4      5

3 × 4 = 12

4 × 5 = 20

3 × 5 = 152 × 5 = 10

5 × 2 = 10 3 × 3 = 9
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Arrays (continued)

3. Draw an array for each. Write the multiplication statement.

a) 8 × 2 = _____ 	 b) 6 × 4 = _____	 c) 1 × 5 = _____

d) 2 × 8 = _____ 	 e) 7 × 5 = _____	 f) 7 × 2 = _____

g) 4 × 4 = _____ 	 h) 3 × 6 = _____	 i) 3 × 2 = _____

j) 4 × 6 = _____ 	 k) 5 × 5 = _____	 l) 3 × 4 = _____

16              24           5

16             35            14

16              18           6

24              25           12
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Arrays (continued)

4. Draw an array for each. Write the multiplication statement.

a) 4 × 7 = _____ 	 b) 10 × 4 = _____	 c) 4 × 5 = _____

d) 8 × 3 = _____ 	 e) 5 × 6 = _____	 f) 9 × 4 = _____

g) 3 × 3 = _____ 	 h) 6 × 5 = _____	 i) 8 × 5 = _____

j) 9 × 2 = _____ 	 k) 7 × 4 = _____	 l) 1 × 10 = _____

28              40           20

24              30           36

9               30            40

18              28            10
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